63 62 (50)
—(L9)
UM
/ ﬁ g B §5 53 54
7/ }u B
7
3
q
d
q
d
d
g
|

42
4

48
45

49
-50
- &4



Fresh water recooler * notillustrated

ltem Description NO
1 |Fresh Water Recooler ‘HALBERG” complete 23.21.20
2* |cooler tube bundle complete for 23.21.20 23:21.11
3* |set of gasket for cooler tube bundle 2321.12
4 |flat gasket 20 23.01.20
5 |hexagon screw M 12 x 50 23.01.21
6 |hexagonnut M 12 1.10.05
7 |lock washer A 12 12.51.03
8 |weld flange 25 2321.13
9 |flat gasket 25 2321.14
10 |stud bolt M 12 x 40 23.21.15
40 (temperature regulator for cooling water complete 23.10.00
41 |temperation regulator 23.10.01
42 |valve cone 23.10.02
43 |resitance safety spring 23.10.03
44 |cover 23.10.04
45 |cover gasket 38 x 50 x 2 23.10.05
46 |gasket ring A 20 x 24 (copper) 23.10.06
47 |hand regulation complete 23.10.07
48 |valve body with stud bolts 23.10.08
49 |stud bolt M 8 x 20 1.10.12
50 |hexagonnutM 8 1.10.18
51 |screw plug with zinc protection 23.10.09
52 |gasketring A 18 x 22 (copper) 14.25.02
53 |flange for tube 22 x 1,5 23.10.10
54 |gasket 23.10.11
55 |hexagon screw M 10 x 20 23.10.12
60* |balance reservoir complete 23.11.00
61 |[tin box with tube connection complete 23.11.01
62 |box with catch shell 23.11.02
63 |gasket 12.10.17
64 |water level indicator with glass tube 23.11.03
65" |glass tube for 23.11.03 23.11.04
66 |gasketring A 16 x 22 (copper) 14.10.42
67 |hexagonnutM 10 14.25.07
68 |lock washer A 10 14.26.04
70 |cooling water pipe - balance box to cooling water pump 23.12.01




Fresh water recooler * notillustrated

ltem Description NO
71 |cooling water pipe cooling water 129157
72 |cooling water pipe motor /cooling 12.91.64
73 |cooling water pipe - cooling water sight glass to temperature regulator 232202
74 |cooling water pipe - temperature regulator to balance box 23.22.12
75 |cooling water pipe with fitting - temperature regulator to fresh water recooler|  23.22.10
76 |cooling water pipe with fitting - fresh water recooler to balance box 2322.11
77 |overflow tube for balance box 23.12.06
78 |rubber hose connection for tube 22 X 1/1=120mm 12.91.30
79 |rubber connection for tube 26mm 23.12.10
80* [rubber hose 25 x 120mm 23.12.11
81* |hose clamp 129135
82 |screw plug R 1/4” 12.21.60
83 |[gasketring A 14 x 18 (copper) 3.11.08
84 |cooling water sight glass complete 12.22.50
85 |thermometer 100° 12.21.61
86* |tube 22 x 1,5 for cooling water pipe item71 to item 77 12.91.39
87* |tube 26 x 2 for cooling water pipe item 70 23.12.12




	23_Fresh water recooler_02
	23_Fresh water recooler_ET1_02
	23_Fresh water recooler_ET2_02

